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: INSTRUCTIONS TO CANDIDATES :

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS ETC. IF SO, GET IT REPLACED BY ACOMPLETE TEST BOOKLET.

Booklet in the Box provided alongside. DO NOT write

You have to enter your Hall Ticket No. on the Test ( ]
anything else on the Test Booklet.

YOU ARE REQUIRED TO FILL UP & DARKEN HALL TICKET NO. & TEST BOOKLET NO. IN THE
ANSWER SHEET AS WELL AS FILL UP TEST BOOXLET SERIAL NO. & ANSWER SHEET
SERIAL NG. IN THE ATTENDANCE SHEET CAREFULLY. WRONGLY FILLED UP ANSWER
SHEETS ARE LIABLE FOR REJECTION AT THE RISK OF THE CANDIDATE.

This Test Booklet contains 70 items {questions). Each item (question) comprises
four responses (answers). You have to select the correct response (answer)
which you want to mark (darken) on the Answer Sheet. In case, you feel that there
is more than one correct response (answer), you should mark (darken) the
response {answer) which you consider the best. In any case, choose ONLY ONE
response (answer) for each item (guestion).

You hava to mark (darken) all your responses (answers) OMNLY on the separate Answer
Sheet provided by using BALL POINT PEN (BLUE OR BLACK). See instructions in the Answer
Sheet.

All items (questions) carry equal marks. All items (questions) are compulsory. Your total
marks will depend only on the number of correct responses (answers) marked by you in
the Answer Sheet. There is no negative marking. ‘

After you hava completed filling in 2!l your responses (answers) on the Answer Sheet
and after conclusion of the examination, you should hand over to the Invigilator
the Answer Sheet issued to you. You are allowed to take with you the candidate’s
copy / second page of the Answer Sheet aiong with the Test Booklet, after completion
of the examination, for your reference.

Sheets for rough work are appended in the Test Booklet at the end.

[L}O NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO Sq
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1.  If Ireachearly
(A) Iwillmeetyou.
(B) Iwould meetyou.
(C) Ihave met ydu.

(D) Ihad notmetyou.

2. Iflhadworkedhard — .
(A) Iwould have scored good mérks.
(B) Iscored good marks.
(C) Iwill score good marks.

(D) Imay score good marks.

3. Johnis angry_____ many for her erratic behavior.
(A) At (B) With
(C) For P (D) On

4.  Youshould notfeel envious —_____her success.

(A) For | (B) Of
(C) With | (D) By

5. Hewillberelieved —______his duty very soon.-

(A) From : (B) Of

(C) By | (D) On
6. Heisstriving_—______ success in his project.

(A)  With | (B) For

(C) of (D) In
7.  Thepatient_______ (struggle) for life since morming.

(A) Isstruggling

(B) Has been struggling
(C) Struggles

(D) Was struggling
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8. Thebomb_______(explode)while the vehicle was moving at a terrible speed over
{be bridges.

(A) Was exploding
(B) Exploded
(C) Had exploded

(D) Explode
9. She__(end) herlife before the result came out.
(A) Ended
(B) Hadended
(C) Ends

(D) Wasending

10. Thepassive form of the sentence “Drop it on the floor.”
(A) Itisdropped on the floor |
(B) Letitbe dropped on the floor
(C) Iltwasdropped on the floor
(D) It should be dropped on the floor ‘

11. The passive form of the sentence “Did you offer her a scooty ?”
(A) Isshe offered a scooty ?
(B) Had she offered a scdoty by you ?
(C) Was she offered a scooty by you ?

(D) You offered her a scooty ?

12. The passive form of the sentence “I will call you soon if necessary ?”
(A) You will be called soon if necessary.
(B) You can be called soon by me if neccessary.
(C) You are called soon by me if necessary.

(D) You may be called soon if necessary.

XL-47/12 (4) { Continued )



13.

14.

o

16.

17.

18.

| have already talked to the manager over phone. You ______ call him again.
(A) Won'tbe ableto (B) Wilinot

(C) Needn't (D) Could not

This is a quite brutal murder. The murderer —_____be his wife.

(A) Can't (B) Mustn't

(C) Needn't (D) Shouldn't

Lions ________ survive without food for seven days.

(A) Can - (B) May

(C) Wil ' (D) Daren't

The reported speech form of the sentence::

The doctor said, “You have to take the medicine on every altemate day.”
(A) The doctor said that | had to take medicine on every alternate day.
(B) The doctor advised me to take medicine on every alternate day.

(C) Thedoctortold me that | had to take medicine on every alternate day.

(D) The doctor asked me to take medicine on every altemateday.

The reported speech foﬁn of the sentence:

My friend said, “Are you aware of the recent developments in the study ?”

(A) My friend asked me thatam | aWare of the recent developments in the study :
(B) My friend asked me if | was aware of the latest developments in the study :
(C) My friend said that | was aware of the recent developments in the study.

(D) Myfriend told me that if | am aware of the recent developments in the study ?

The reported speech form of the sentence :

John said, “Where are you staying these days ?”

(A) John asked me where | am staying these days.

(B) John said me that where was | staying these days ?
(C) John said that where am | staying these days ?

(D) John asked where am | staying these days ?
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19.  Theleader along with his one hundred followers resigned from the party.
(A) Has (B) Have
(o) I - (D) Are
20. Either his elder brother or his sisters —_to contribute for this work.
(A) Is (B) Are
(C) Shall (D) will
21. The poet and dramatist ___' born to reach parents.
A s (B) Are
(C) Has | (D) Have
22. Youhavetolodge FIR against him for this type of erratic behavior.
(A) A | (B) An
(C) The (D) Zeroarticle
23. Heis—_____tallestboy of the class.
(A) A - (B) An
(C) The _ (D) Zeroatticle
24. The railway bridge constructedover_______ Mahanadi needs repairing.
(A) A 3 (B) An
(C) The | (D) Zeroarticle
25. Thereis_—______buzzinthe campus about his removal.
A) A e (B) An |
(C) The (D) Zero article
26. Heisweak _______ Mathematics.
(A) At | (B) In
(C) On (D) By
27. Hecomestocollege —_____bus.
(A) By (B) In
(C) On ~ ‘ (D) With
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28.

29.

30.

31.

32.

33.

The reason of his death is due to excess intake of alcohol. (Correct the error) :
(A) Thereason of his death was due to excess intake of alcohol.

(B) The reason of his deathis due to excess of alcohol.

(C) Thereason of his death is excess intake of alcohol.

(D) Noerror

| enjoyed during my stay in Kashmir. (Correct the error)
A) | enjoyed during my stay in Kashmir.

(B) |enjoyed during stay in Kashmir.

(C) |enjoyed myself during my stay in Kashmir.

(D) Noerror

This is a true fact. (Correct the error) :
(A) Thisisatrue fact. |

(B) Thisisa very true fact.

©) Thisisafact.

(D) Noerror

One of the members ____to present in the meeting.
A) Is , - (B) Are
(C) Must "o P (D) Usedto

The father of three children been sentenced to five years of im prisonment.

(A) Has (B) Have
©) Is | .. (D) Are

| have completed thebook 2 day.

(A) On (B) h

(C) By (D) With

Halfa dozen eggs rotten. |

(A) Is | - (B) Are \
(C) Has (D) Have
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35.

36.

37.

38.

39.

40,

He has been caught red handed. (Change the voice) :
(A)  The police official has caught him red-handed.
(B) He has caught red-handed.

(C) Heis caught red-handed : _

(D) The police official caught him red-handed.

The Parliam'entary Committee consisting of twenty three MPs »on
their way to Kashmir.

A Is , (B) Are

(C) Has : (D) Have

I'am an optimist. (Add a question tag) :

(A)  Amnotan optimist ?

(B) laman optimist, aren't| ?

(C) Amlan optimist ?

(D) lam not an optimist ? ‘

I have cancelled the meeting. (Replace the underlined word with a suitable phrasal
verb) :

(A) Putoff

(B) Called off .

(C) Putout

(D) Called of

I am here to execute your order only. (Replace the underlined word with a suitable
phrasal verb) : '

(A) Putout

(B) Carryout

(C) Give away

(D) Callon

When I was in London | speak English fluently.
(A) Would

(B) Could

(C) May

(D) Can
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41. Who among these is an ancient linguist of India ?
(A) Patanjali
(B) Tista Bagchi
(C) Noam Chomsky
(D) Kshetresha Chandra Chhattopadhyaya
42. Which of these people perceives language as a means to interpret human
experience ?
(A) Anthropologist
(B) Sociologist
(C) Philosopher
(D) Students of literature

43. Which of these words is based on the pﬁenomena, ‘Onomatopoeia’ ?.
(A) Cuckoo
(B) Book
(C)  Door
(D) Blackboard

44. Which of these is not a type of linguistics ?
(A) Historical
(B) Personal
(C) Comparative
(D) | Synchronic

45. Which of these finds out how certain set of people use a language at a given time ?
(A) Diachronic Linguistics o |
(B) Comparative Linguistics
(C) Synchronic Linguistics
(D) Hystorical Linguistics
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46. Which of these is not a level of language ?
(A) Phonology
(B) Grammar
(C) Running

(D) Semantics

47. Which of these terms refers to the study of speech sounds of a given language and

their function within the sound system of that language ?
(A) Phonetics
(B) Phonology
(C) Syntax
(D) Morphology
48. Which of these is the study of méaning of words and the development of the meaning
of words ? | |
(A) Morphemics
(B) Phonetics
(C) Semantics

(D) Syntax

49. Which of these terms refer to the study of speech pr‘ocess'?
(A) Phonology |
(B) Phonetic substances
(C) Phonetics

(D) Semantics

50. Which of these is not a type of phonetics ?
(A) Articulatory
(B) Personal
(C) Acoustic
(D) Auditory
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51. Which of th_ese terms refer to the study of hearing and perception of speech sounds ?
(A) Articulatory phonetics |
(B) Acoustic phonetics
(C) Auditory phonetics
(D) Labofatory phonetics

52. Whichof these refer to the sound features of a language ?
(A) Morphemics
(B) Phonetic substances
(C) Phonetics
(D) Syntax

53. Whatdoesthe phonetics symbol d represent ?
(A) Voiced bilabial plosive
(B) Voiceless balatal plosive
(C) \(oiced alveolar plosive

(D) Voiced dental fricative

54. What s the full form of IPA?

A (A) Indian PhoneticAlpha-bet
(B) International PhoneticAlphabet
(C) International Phonetchgreement

(D) Indian Phonetic Agreement

55. What does the sign//represent ?
(A) Phonetic transcription
(B) Centralization
(C) Voiced bilabial nasal

(D) Rising —falling pitch
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56.

57.

58.

59.

60.

Which of these is not a punctuation mark ?

(A) Fullstop

(B) Comma
(C) Colon
(D) Hashtag

Which of these is used after a nominative absolute ?

(A) Colon

(B) Comma

(C) Fullstop

(D) Question mark

Which of these is used between sentences which are grammatically independent ?

(A Colon

(B) <Semicclon
(C) Comma
(D) Hyphen

Which of these words is correct ?

(A) Allign
(B) Align

(C) Alignn
(D) Alline

Rot becomes

(A) Roted, pened
(B) Rotting, pened
(C) Rotting, penned
(D) Rotted, penned
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61,

62.

63.

65.

66.

Choose the correct statement :

(A) The boy gave his examination.

(B) The boy took his examination.

(C) Theteachertook his examination.
(D) The boy gave away the examination.

The thief has all my belongings.
(A) Robbed

(B) Taken

(C) Stolen

(D) Takenaway

Choose the correct statement : }

(A) Graham Bell discovered the telephone.
(B) Graham Bell found the telephone.

(C) Graham Bellinvented the telephone. -
(D) Graham Belldid the telephone.

An ellipsis is a figure of
(A) Syntax

(B) Quality

(C) Amount

(D) Verb

Some students are ' at copying.
(A) Adapt
(B) Adept
(C) Adopt
(D) Edept

Choose the correct statement.
(A) Aniltalks French well.
(B) Anilcharts French well.
(C) Anil speaks French well.
(D) Aniltalk French well.
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| 67. Which ofthese is notan eponyrﬁ ?
(A) Bloomers

(B) Boolean

(C) Boycott

(D) Basket

68. Which of these means to omit ?
' (A) Accept
(B) Except
(C) Acept
(D) Exccept

69. Inthe following sentence, which two words are in apposition ? John, captain of the

ship, was welcomed at the port.
(A) Johnand captain
(B) Johnand ship
(C) Captain and ship
(D) Johnand port
70. Which of these means to influence ?
(A) Affect
(B) Efect
(C) Effect
(D) Affecct
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SPACE FOR ROUGH WORK
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